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Algebra Worksheet — Eliminating Brackets
1. —3(x—2)=2(x+1) 2. 3r+5—-4r=—-(r+6)
=34l = 2xx2 T~z =6
Je?)_,»L *3": . -
n R T Gl
b = :_D\" -+ LQ
-z = 4 \i\ fes IC paT TEOVGE
. g o -
oz nl 7 L'f., 2 QO %_c)uﬁ‘z'ole
3 5 =
3. S5(r+1)—4(r—2)=2r+5 4 —9(q—5) =4(—q—11) —5¢ — 1
e N -
| ~ T rUS 5 - Lyg— e ~ < -
Sy St B 24 S AR Al B
Ve[ s 20t S _ D ==
+HS =~ Fo - 49
= . ctci/ [ S
e (xS ug = -4g
=% ~< _
6.

5. 3(x—5)+6(x—2):x+7—(73x+4)
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7. =Tr=1+3(-2r=2)=6r—6(r+1)
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9. —7(t—=2)+82t—1)=9(t—3) 10. a+3(=4a+5) =—(—a—-75)
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How do you feel about things are going do far?

What do you need the most practice on, be specific?
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